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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['1", "lopt’], [T, "Topt'], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAl', ’'optEtRate’]
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Trend plot forP3-4 0
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large discrepency for begining water status (63:276.0), set to 106.0 ml.
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P3-4

BfiE) | EBIETK (D) | EE (EH/R) | XK R
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23t] 7200.0 (8:%) 400. 0 32 3KEC: 1900.0, PH: 6.5
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large discrepency for begining water status (68:270.0), set to 109.0 ml.
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large discrepency for begining water status (76:270.0), set to 115.0 ml.
BE R i3t Bl RECEIRE ER K.

FEREBLFHEREC/PHETLK, FIRERNEERSR



40 - 27271 300 =
03 ©
F 200 —
E
20 -
- 100 &
00 Warning: lcol [FVI',| "FVO'] missing 00
0 -0
_ ( FRV — ME 430.0
T 60 maxM
I R R R R R I R R ET——— L 275
©
E. 40 T Lu|
— -25.0 =
E
z 201 L 22.5
o
2208 - —{ 20,0
TargetEC=2300. 0, | TargetSetEC=2000. 0 > ECB*10%
2100 A
2000 e e % X > X R TR DI D M.
1900 +
Warning: lcol ["ECC'] is missing
1800 +
65| _TargetPH=6.5 TargetSetPHz6.5 | |- T P g
6- 0 ] /N ) ) ) N
5 5 Warning: lcol ['PHC'] is missing
: 2‘400
"é 100 ~ : - 300 -g
= ByWoFv @Dﬁ: 02:38: ET=203 Fg=250.0 Ro=19.0 =
= <
- ] —
< - 200
\ I p—
:E/ 50 ~ : 5
— ! - 100 &
W o
1.0 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
0 8-§£ E2NEXAEZAN BA BA ;] FH BA BA rNEZNEZAN; R EFREFAETAEFIEZIEZAN 5
0.6 -
0.4 4
0.2 ~
0.0
—_— 4
1500 ~ o | _obs
—@— PPFD obs
1000 -

500 -

20 A

P3-4 0, Day=3 (2025-04-01)

VI,V@1_ﬁy,ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

0.0 0.2 0.4

0.6 0.8 1.

0



21.3

21.2 -

21.1 4

21.0 -

20.9

——

M_E

500

660 760
m=750,n FV0=0

T
800

T
900

21. 30 A
21. 28 A
21. 26 A
21. 24 A
21. 22 A

21.20

——

M_E

750

765
m=570,n FV0=0

T
760

49.5 -

49.0

48.5

48. 0 -

——

M_Ww

570

575

580

21.

21.

21.

21.

21.

20.

20.

21.

21.

21.

21.

21.

21.

m=480, FV0=0

20

15 1

10 4

05 A

00 -

95

90

——

M_E

480

485
m=840,n FV0=0

T
490

20 A

18

16 1

14

12

10

——

M_E

840

845
m=660,n FV0=0

T
850

49.5 -

49.0 -

48.5 -

48. 0

——

M_W

21.

21.

21.

21.

21.

21.

m=570, FV0=0

30 A

28 A

26 -

24 -

22 -

20 A

M_E

570

575 580

51 1

50 A

49

48 ~

—-— MW

T
500

T T T
600 700 800

m=750,m FV0=0

900

50. 5 -

50. 0 -

49.5 -

660

665

670

49.0 -

m=660, FV0=0

21. 30 A

21.28 A
21.26
21.24 4

21.22 A

21.20 A

——

M_E

665
m=480,n FV0=0

660

T
670

50. 50 A

50. 25 A
50. 00 A
49.75 A
49. 50 A

49. 25 ~

——

M_W

485
m=840,n FV0=0

480

T
490

51.5 4

——

M_W

750

755 760

51.0 A

50.5 -

50. 0 A

——

M_W

840 845

850




hour

100

6:50
7:50 80
8:50
- 60
9:50
- 40
11:10
14:05
-0
e I
& &




P3-4

BfiE) | EBIET (FD) | EE (EH/AR) | XK R

06:50 60 50.0 5 1318006 :50 (K FH{EREE)
07:50 60 50.0 = B3%@07:50 (KRFEERSE)
08:50 60 50.0 = {B31%@08:50 (K FH{ERLEE)
09:50 60 50.0 |Z= B1%@09:50 (KRFERSE)
11:10 60 50.0 |Z=& Big011:10 CGREERSE)
12:50 60 50.0 | = Bi%@12:50 (REERSE)
14:05 60 50.0 |Z= Bi%014:05 (REERSE)
23t| 420.0 (7% 350.0 3EGHKEC: 1900.0, PH: 6.5

EREBETK (60. 0) 5T (83. 0) A, FIREM T % WEIEIRS X XER

ZRINKPRIEBRL36.0 ml.

large discrepency for begining water status (83:270.0), set to 120.0 ml.

REX 1 [B] RECEIE TR K.
RER B HEREC/PHIEERE, 7]

VNN
BEFZ

MEARBR TR




P3-4 0, Day=2 (2025-03-31)

ET (ml/hr/plant)

1 _ : 312
. VI, VG!FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 8830 300
- 59 —~
i
F 200 —
E
20 _
- 100 &
00 Warning: lcol [FVI',| "FVO'] missing 00
O —m— 0
( ERV — ME 430.0
T 40 1 maxM
= - 27.5
©
ey w
E 201 L 25.0 =
= - 22.5
L
2208 —, 200
TargetEC=2300. 0, TargetSetEC=1900.0 —¢  ECB*10%
2100 A
2000 KA H—H———>¢———X
T e e -
Warning: lcol ["ECC'] is missing
1800 +
55| _TargetPH=6.5 TargetSetPH=6.5 _ | - T P g
WA ——>¢———X
6.0
Warning: lcol ['PHC'] is missing
5.5 1
| "
100 I D
I L 400 £
75 ByWoFv @Dﬁ: 02:38: ET=280 Fg=350.0 Ro=29.0 *—o—0—0—9 =
~
: E
50 1 ' L 200
| z
1.0 L 0

osl fE | 5 [BF | 5 | M5 [ BE | f5 [ M | BE |27 | B |3 |5 (B |3 |25 (25 |57 B |[ZR | (25 |35

0.6 1

0.4+

0.2~

|
| _obs
PPFD_obs

60

40 -

RH
[ ] RH_obs
(] RHo_obs

e vpD f
4
0.8 -
0.6 -
0.4 -
0.2
0.0 . . . .

0.0 0.2 0.4 0.6 0.8 1.0



21.3

21.2 -

21.1 4

21.0 -

20.9

-&— M_E

500

660 760
m=660,n FV0=0

T
800

T
900

21. 30 A

21.28

21. 26 A

21.24

21. 22 A

21.20

—&— M_E

665
m=900,n FV0=0

T
670

21. 30 A

21.28

21. 26 A

21.24

21. 22 A

21.20

-@— M_E

900

965
m=600,n FV0=0

910

47.5

47.0 -

46.5

-o— MW

600

605

610

21.

21.

21.

21.

21.

20.

20.

21.

21.

21.

21.

21.

21.

47.

47.

47.

46.

46.

46.

m=480, FV0=0

20

15 1

10 4

05 A

00 -

95

90

M_E

480

4é5 4é0
m=720,n FV0=0

30

28 -

26

24

22

20 A

——

M_E

500

600 700 800 900

m=660,m FV0=0
50 1 —o— MW
25 -
00 -
75
50
25
660 665 670

m=540, FV0=0

22.0 -

21.5 A

21.0

20.5 -

21.

21.

21.

21.

21.

21.

—o— M_E

i

5&5 5%0
m=780,n FV0=0

540

20 A

18

16

14 4

12

10

M_E

7é5 760
m=480,n FV0=0

50. 0 -

49. 8

49.6 -

49. 4

49. 2 -

49.0 -

—— MW

4é5 460
m=720,n FV0=0

480

47.75 ~

47.50 A

47. 25 ~

47. 00 ~

46.75 ~

46. 50 ~

-o— MW

720 725 730

21.

21.

21.

21.

21.

21.

21.

21.

21.

21.

21.

49.

49.

48.

48.

48.

48.

48.

47.

47.

47.

47.

47.

46.

m=600, FV0=0

30

25 ~

20 A

15 4

10

——

M_E

605
m=840,n FV0=0

T
610

30

28 -

26

24 -

22

20

——

M_E

845
m=540,n FV0=0

T
850

——

M_W

540

5&5
m=780,n FV0=0

550

——

M_W

780

785

790




48.

48.

47.

47.

47.

47.

46.

m=840, FV0=0

25 A

00 -

75 -

50 A

25 A

00 -

75 -

—0—

M_W

840

T
845

850

49.

48.

48.

48.

48.

48.

47.

m=900, FV0=0

—0—

M_W

900

T
905

910




